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Our Canadian government wants to become more efficient and effective in its day 

to day business. To become more efficient, the government must remove duplication and 

wrongful allocation of financial assistance. Traditionally administered housing assistance 

programs have contributed to an exponential growth in the costs associated with housing 

assistance. This is the reason given for the current Federal Government's actions. They 
�~� 

have decided to put a ceiling on its social housing expenditure. With a combination of 

limited social housing assistance and the quest for efficiency, a need to explore 

alternative housing policies and methods used in identifYing and helping those who truly 

need housing assistance has been created. 

In Ontario, 'restructuring' has become a household word that signals change. In 

relation to the affordability problem, restructuring the government means that due to 

smaller budgets, funding for programs that ensure housing for the low- income, elderly, 

aboriginal and handicapped citizens of our newly amalgamated cities have been reduced. 

Reduced funding as well as the swapping of administrative responsibilities amongst 

government levels has introduced the need for a more efficient allocation of financial 

assistance. 

The following literature and econometric investigation will show the possible 

effects ofpolicy change, on the rental housing market and the indicators used for 

identifYing affordability problems. Some questions that will be addressed include; what 

are the key indicators that should be used in identifYing those who truly need housing 

assistance? What are some ofthe policy options available to planners and housing policy 

analysts that could solve some of the affordability problems faced by many households 



living in Ontario's rental market? How does one identify affordability problems? What is 
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